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Directions: (1-4) Out of the four altarnatives, choose the one 

which best expresses the meaning of given word and mark it 

in the Answer.  

1. Ans.(b) Make 'kCn dk vFkZ gS & (cukoV] xBu LoHkko] izdkj]  

fuekZ.k djuk] ftldk lgh foykse gS Break (RkksM+uk) 
2. Ans.(c) Successor 'kCn dk vFkZ gS & (mRrjkf/dkjh] mRrjorhZ] nk;kf/dkjh] 

ftldk lgh foyksx gS &predecessor, (iwoZt] IkwokZf/dkjh] iwoZorhZ)  

3. Ans.(c) Rapidly 'kCn dk vFkZ gS & (rsth ls] 'kh?kzrk ls )  

ftldk lgh foykse gS & Slowly (/hjs ls) 

4. Ans.(c)Terminate 'kCn dk vFkZ gS & lekIr djuk ;k gks  

tkuk] vra djuk ;k gks tkuk_ ftldk lgh foykse gS Begin   
(izkjaHk djuk) 
 

Directions: (5-6) Out of the four altanatives, choose the one 

which best express the meaning of given word and mark it in 

the Answer  

5. Ans. (b) Motive 'kCn  dk vFkZ  gS dkj.kHkwr ]izsjd fufefRr  

dkj.k Reason  'kC dk Hkh ;gh vFkZ gS 

6. Ans.(b) Flimsy'kCn dk vFkZ gS fucy 'kfDrghu Weak 'kCn   
dk Hkh ;gh vFkZ gS 

7. Ans-(b) Abundant 'kCn dk vFkZ gS & Existing in large  

quantities,  more  than enough (izpqj Hkjiwj vfr'k;) Plentiful  
'kCn dk Hkh ;gh vFkZ gSA 

8. Ans. (b) Anticipate 'kCn  dk vFkZ gS Ikgys  ls tkuk ysuk]  

eglwl djuk] IkwokZuqeku djuk] izR;k'kk djuk) Expect 'kCn dk Hkh  

;gh vFkZ gS 
 

Directions: (9-13) Four alternatives are given for the 

idiom/Phrase bold in the sentences. Choose the alternative 

which best expresses the meaning of the given idiom /phrase 

and mark it in the Answer –sheet. 

9.  Ans.(b) 

10. Ans.(a) 
11. Ans.(c) 
12. Ans.(d) 

13. Ans.(d) 

  

Directions: (14-18)   Sentences are given with blanks to be 

filled in with an  appropriate word (s) Four alternatives are 

suggested for each question. Choose the correct alternatives 

out of the four and indicate it by blackening the appropriate 

rectangle in the Answer –sheet. 

14. Ans.(d) 
15. Ans.(b) 

16. Ans.(d) 
17. Ans.(c) 
18. Ans.(c) 

 

  

Directions: (19-23)  Some  of the sentences have errors and 

some are correct. Find out which part of a sentence has an 

error and blacken the rectangle corresponding to the 

appropriate letter (a,b,c). If a sentence is free from errors, 

blacken the rectangle corresponding to (d) in the answer 

Sheet. 

19. Ans.(a) would have ds cnys had gksxk D;ksafd ;gk¡ past dk 

conditional sentence gS 

20. Ans.(c) is ds cnys should dk Ikz;ksx gksxk D;ksafd lest ds ckn 

should dk iz;ksx gksrk gSA 

21. Ans. (a) 

22. Ans. (b) 
23. Ans.(c) 
  

Directions: (24-33): A part of the sentences is bold. Below are 

given alternatives to the bold part at a,b, and c which may 

improve the sentence .Choqose the correct alternative. In case 

no improvement is needed, your answer is ‘d’. 

24. Ans.(b) ;gk like coward dh txg ij lgh gksxk like a  

coward. 

25. Ans.(d) No improvement  
26. Ans.(c) Refute dk vFkZ gS &[kaMu djuk] Decline dk vFkZ gS   

&vLohdkj djuk 

27. Ans.(a) Discuss ds ckn fdlh Preposition dk iz;ksx ugha  

gksrk gSA 

28. Ans.(c) Dispose of dk vFkZ gS get rid of, deal with  

destroy [kkRek dj nsuk] NqVdkjk Ikuk 

29. Ans.(a) 

30. Ans.(d)  

31. Ans.(b) 
32. Ans.(a)Follow  in Somebodys’ footsteps dk vFkZ gS & to 

do the same job as somebody else who did it before you.  
ogh djuk tks igys fdlh us fd;k gS fdlh ds uD'kssdne ij  

pyuk 

33. Ans.(c) ;gk hard working people gksxk D;kasfd hardly dk vFkZ 

gS &eqf'dy ls tks fd ;gka xyr gSA 
 

 

Directions: (34-43)You have a passage with 10 questions. 

Read the passage carefully and choose the best answer to 

each question out of the four alternatives. 

34. Ans.(c) ys[kka'k ds Hkko ls Li"V gS fd jkbV cU/qvksa dks gokbZ tgkt ds 

fuekZ.k dh izsj.kk *Ikf{k;ksa* ds v/;;u ls izkIr gqbZA 

35. Ans.(a) ck;ksfefeØh mu uohu rduhdh vFkok fopkj/kjkvksa dk o.kZu 

djuk gS tks fdlh le; ;k LFkku fo'ks"k ds lHkh gS tks fdlh le; ;k 

LFkku fo'ks"k ds lHkh isM+& ikS/ksa ,oa i'kqvksa ls izsj.kk ysrs gSA  

36. Ans.(c) ck;ksfefeØh rduhd izdf̀r dks ,d vuqHkoh Ikjke'kZnkrk 

(mentor) ds :Ik esa ns[krh gSA 

37. Ans.(b) Økfed fodkl^ ;kfu Evolution }kjk ekuo }kjk lkeuk dh 

tkus okys IkzR;sd pqukSrh dks gy djus es enn feyrh gSA 

38. Ans.(d) ,sls nks mnkgj.k ftuds }kjk ys[kka'k eas *ck;ksfefeØh rduhd dks 

n'kkZ;k x;k gS] ,;jIysu vkSj osYØksA 

39. Ans.(d) 
40. Ans.(c) 

41. Ans.(c) 
42. Ans.(d) 

43.  Ans.(c) 
Direction (Q. nos. 44-45): Groups of four words are given. In 

each group, one word is correctly spe;t. find the correctly 

spelt word and mark your answer in the Answer Sheet.   

44. Ans: (b)  spelling Heterogeneous

45. Ans. (d)   spelling  Perjury ( ) 
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